The University of Jordan
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Organic Chemistry 233  First Exam (60 min.)

EEEEEEEEEEEEEEEEE&mﬁEEEEEEEEEEEEEE
Q4: Circle the correct answer in eachiof the following (10 pts)

4/ If the following compounds are arrar; according to the boiling points, which
4ne has the lowest?

d.a»Ipel e Hm»p1

he bromo is axial and the tert-butyl group is equatorial.
b. the teri-butyl group is-axial and the bromo is equatorial.
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c. both groups are axial.
d. both groups are equatorial.
e. the compound is in the boat conformation.

6-How many cofigurational (cis-trans) lsomers are possible for the formula 2,4,6-
octatriene.

a.8

.,Q have a formal charge of ' +17?




Q2: Provide IUPAC na for the following structures: (@ pts)
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Q4. Draw in the box the stérc’fure of

a. The aromatic hydrocarbon (CsHic
with one mole CH;COCH2

£ The constitutionaﬁ”somer of ééngq,which gives only twp ;

fnonobrominated with Bro/hv.
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d. The most unstabl
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onal (structural) isomers,

Q5: Classify each pair of compounds as constituti
Aformational isomers or

configurational (cis-trans) isomers, resoniance, ¢o
T S

[dentical: (6 pts) —_

of the chldrination

éps in the mechanism

Q6: Write the propagation
reaction O ane:




Q7: Complete the following reactions (9 pts)
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